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112 KHBEE #HP 49.72 49.81 1:39.53
2 13 | A 50.47 50.46 1:40.93
3 10 HE A 53.23 51.71 1:44.94
4 11 JER By 53.46 52.31 1:45.77
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
NOT PERMITTED TO START  [1st RUN] 0
DID NOT START [2nd RUN] 0
2023-3-12 / FREAX—% GL8 / 1

DATA PROCESSING by SE I KO TIMING by SEITKO



HEIET A T

INFAE 4 ~ 6 4
F:
NERE Ap=b -§ B 1RKH 2A&AH A& 7 1V—x
No No K4 B 4 B B 4 1 = - R VN
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
NOT PERMITTED TO START  [2nd RUN] 0
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